; AME|B E|F E |[#BI3:A
R 284 3H 248 KER
(IBFZ : 28 16R)
X&  EOBEE
FARIB B : 3/23 14:22
povy — Azh Dy 31}
BRATE  HEAH EERZH ERBRH
pryrr—n fmER - fEER EhE—F
e b 2k 5 . Eih HEE iz BE |En]  (HE Eth HEE pi:br ] HE |me| g=
RIEFIR (B2 E) ¥ 4h, 445+ 100| {& AN [RES BN 3,200] &
Eh HErE flE HE ppy (BB EiER Yy4hst 100| 1& ERES [vinst Bhon'y 900| &
R EEAES  [FE'H2'3Kk 150| {& HE45 vEUL @ ENTT 300| &
X5 A & IMEE E5R. 14%5 100| 1@ Koo EARSN [#BE352 100| &
2 vy K474k 600| & Bak Lyask 800| 1& REAR S ER5 BTy 300| #%
Rl Bl KP4k 350| 1@ [ERRE 445+ 100| & BE KEMHS  [FEEFS 400| kg
INRTY 400| {8 m5 300| kg ZE5N st EAR% 100| &
== 3 500/ {& =]-4 1+3Y54 200| & 5 400 kg
g & HEA [ 415 200| {8 1,400 &
iR 541520, S VS YIS & B ke 3,500 #
N7 5k L[5 X5 KR BAhot 100| {&
=N BAEN Hn'6 A @ blid:: 3 100| 1@ A% 3,850 ke
ERE | VATV 8k & =I5 X Ahyt 100| 1@ 7,500 &
5 2,000 & EBRE B& 100| {& 1,400 &
W A, Fhyt5 50| & 7,000 #
EEE_M BiR ER Khv15t &
- 45 iy 50| {&
W ] THEEDYY [hHE 100| {&@
Eih HEE iz HE |ma]  (HE g 750 kg
EES BHE H4° L 700 ke 3,800 &
7IE 50| kg
RN |FH5H 172 100| kg .
s MBS |mIc 100| ke BRI
REX S =HN T7HY 150| {& Eh HEE A B |me| (EE
BEN WES B# 50| ke R Fa 5 EETA, 445 150| kg
= 4 Z1-R4u8 - &z 1,500 # 8453 bef 208 300| kg
EE N = 2,000| ¥ =)= 4 E4. 535 300| ke
§ 1,000 kg Bt b | 100| kg
150 @ R BER &N 5 50| ke
3,500 # 12 ik FEAVE A AR S 100| kg
% EETAL M55 600 ke
EEE=M EiF EV575° 5 100| kg
i N B 1700 ke
Eih HEE iz HE |ma]  (HE R
Eig LExtES  |FRAY, E753°5 100| &
LB Frhv5 200| {&@ Eih HErE ki = |t {HFE
K5 FhY, h7 5 100| & 12 fnidgist B4h4t 100| &
Eigst B, A7V 5 150| {8 HE 100| &
&R E3R. 77445+ 100| {& xR 20 200| &
F5 5 7', 9744+ 400| & HEX XE \L2¢) 200| 1@
IME~R 1144 200| 1@ 2R Fed o] 74454 200| {8
b 208 100| kg R 10 50| {8
BER =R @ R FEF 7’5 200| 1@
ERR JFERB [¥n, v1H5t 100| & bTic] 10 50| {&
X5 A 75 100| {& =) 454 100| &
HrES W|ATDA 150| 1@ RI& iWHE Lyask 200| 1@
Wwadh)) & A 4hry3— 150| {8
(=t-13 #9554 & BB WUAF 940015+ &
%] el 300| kg §t 1,550 {@
Eig RiE AT 50| kg
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